9 step series based only on the visual ajustment of image 1 with value "0.50" or different

9 step series based on all visual adjustments used for output linearization

0,00 @=0,12 ¢=0,25 =037 =050 =062 @=0,75 =0,87 1,00
save 9 data below as text
£+0.04 18+0.04 T11+0.04 E18 0,04 18+0,04 F+0.04 0.4 0,04 7]

©1=012 =025 30,37 =050 ©5=0,62 ¢6=0,75 ¢7=0,87 1,00

i adjust and proof threshold of
difference visible? s eane ] the inearized output

restart with image 1

heq70-4a, image 4, adjust visual threshold (+0,04?) of 9 steps: all equal?




